‘Date: | 07

vReadmg Time 15 Mlnq

‘Writing Time 2 Hours. -

‘Answers m this paper must be wntten on the paper provided separately.
)’ou will not be a//owed to wnte during. the first 15 mlnutes
-+ This time s to be spent in reading the question paper. ,
The nme given at the head of this paper is the time allowed for writing.the answers.”
']Sect‘:on 1is compulso:y. At*empt any four questions from Secticn 11, , i
The intended marks for questions or part: of questions are given in' brackets [ ] :

] SECI'ION I
( Attempt all qmsbons fmm tl'us sectlon )

Wh_l;h @dioactwg rays (i) are mast lonlzmg (W) have the highest. velocnty . ' (2).
-12'V eledric motor takes a current of 2A for. operation. The output of the motor i is-18 w.
Calculate its effidency. (2) '
< k_Bay of light Is travelling from madium A in which velocity of light is less into a mediwn B
aWEIe velocity of light is more. Will it bend away or towards the normal? Give reason. 2)
..“A'and B shows two switches in a dual control switch used fogstaiicase lighting. Copy tha

- diagram and insert the smlrcase hght In It Is the staircase X0 or off as shown In‘the
d:agram? -2

@

b. An electmmagnebc radiatio \Epyfrequencitaiten L3 Hz. Calaulate its wavelength. Name

. the radiztion. S ' (2)
e State two ractors (@3]
wd A bat emits an
B - : 2)
b is wrepped In wet cloth. @)

ving a vertical force of 10N.He moves a horizontal
.'5 up 3 vertical distance of 10m.Calculate the total work done by

' 2
'oh is 1.44 and that of ether Is 1.36. Calculate the refract:ve( )
: octive to ether. - (2).
ot C) a singly lonized hellum atom? (ﬂ) 2 neuo il helium atom 7

d A\ I.hei dlrectlon of current In the ring in the diagram given below. Name the law used. (2)

¢ ;

e State two prefalltions that must be taken whlle handiing radtoactwe SUbsmnCES (2)

e VA
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 PHYSICS

Cassy
: e : :_; :.4 "'2.‘.' i i
Q t|0n4 !
a. When a bodv Imoves in a circutar path how rnuch work is done by the body at any instant?
_ Glve reasong (2)
- b.. A piece of stone tied at the end of a thread is whlrled in a honzontal dircle with a uniforr
 speed with the he'p of handg Answer the following queshons ' (2)

(i) What force does provide the centripetal force required for circular motion?
\h) Give one difference between centripetal and, centnfugal force.
. The given diagram shows an object O and its i |mage 1 locate the lens and complete the

diagram. 2
0
d. In the glven dlagram find the direction in which q rrent moves. Name
the rule used. : (2)
(2)

(i) Explain how does the magnetic field, mldway between the conductors change if the curren

in one of the conductors is reverSed? : 3)
b. How long it will take to melt 2 kg of ice at 0°C to water at 0°C if the power of the electric
-.heater used is 1kW?( Specific Latent heat of melting of ice = 336 X 10 1Kg ) 3)
c. Theresistanceinpatﬁm 2 Q and that of XZY = 6 Q. :
! X what is the equivalent resistance

between X and Y?
‘i, what Is the current in the main clrcuit?
kii. find lhe current that flows through the

paths XTY and Xv2? ()

I
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/ a'.f'l
- e rel ‘apaotyand Specurc heatm
b. 'Thé"diééfé'rﬁ'sh art jaln circuit with earth (E), neuha (N

Ut 40gofa substance)( is I-ﬂat.ed steadlly by.a-15 W. heater. _
vith time is shown In the adjolnlng fi gure From the graph
() the melting and bolling point of X’
(ii) specific heat capacity of solid X
(it) neat absorbed during melting

alti:T3alals ".v--;
NP

‘f'!,

8. When'a SsuitabR mz;. «:P—' eld near a source of r‘dlurn. the average count rate is found to be
707 counts per mi Roter Wihien the radium is removed the count rate falls to an average of. 13
counts per minute. (i) Explaln why the count rate does not-fall to zero when the radium source
is removed. (il Name the phenomenon and ment:on one internal and one external source of -

b. A man standing between two vertical cliffs a 640 m away from the nearest cliff. shouted( Ize
heard the first echo aRter four seconds and- _ second echo 3 seconds later. Calculate [0] the
velocity of the sound in air and (i) the. dlstan“ between the diff. = b (3)

. . Give reason: {i) th~ nhotographic’ darkrooms are provided with infrared lamps =

' (ll)Ulﬂavwlet bulbs have a. quartz envelope instead of glass. - (4)

& Q“ - ue§ tion8 /s

" .a.. On what principle does a transformgr work*? Wh

‘ y a iransformer cannog wo k on, D L.. our ?
b, State the Factor that determines - W4 ‘ source?(3)

_ (i) The pitch of a notg’ it I
PR ) The loudness of the sound heard and

S (i) The quality of a. note ’_'_-;}} e j\, "
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c. What is the result of mixing 100g of ice:w}i_t_‘i; 369 of waier at 25°C.(Specific heatca |ty/of i
water = 4200 J Kg " K* and Specific Latent hezt of fusion of ice(approximate value)=330 X 10 3

. o

* JKg ™) . Mention the amount of ice and water in the fial mixture. e (4) -
Question9
a. Complete the nuclear change by finding X, X, and X~: S (3)
f - a a -
X —— X —> Xp—> 17X
e 69 | .
b. A uniform metre scale of mass 60g carries masses of 20g, 'l_,"__e_é]w} 80g from points 10cm,
20cm and 90cm.Where must be the knife edge placed to baldfeagcale? 3).
c. Orange light of wavalength 6600A travelling in alpdiets refracte : SE0IF the speed of light

'Qgestignlg . _ .
3., A boy lifts a 1oad of 400 N througly3 vertical helgti

|/ @n effort of 480 Nat the other e

r
t

t the ot IRh; i s
(1) the velocity Ratio ' 5 e
(i) Mechanical advantage R S -"' s
(iif) Effidency | _ ST (3)
b. Give example of ead)ginss of | ) paw L BRI )|
c. (i) Write two differdERTURERRES wive decay and nudear fission, Ju ’
‘ Fas Wit : SR S (9)
SaL
P (,:'?-
SRR AR YRR R S r IR NI LIS TR RN R REFTR
. ' - . 3 H
USSP ' : o :

Adow. ches =
Qo novb o, = 4 ~—-chs 2]

@L't\ﬂ Ce Kan 'PUd:ﬂth X'i Mes muhe - “> Cka»gt: 1, h Y ’ Cf"\ao? no :-H) '
Qe ko toss g 2 Pebile, ' ’ o
No-me h\t_ Peonrsche. @pni Hed- '}-{Pﬂs“{)){'scl‘mam—\ﬂ ’“\-L g"ﬁﬁn(ﬂ(ld
ﬁ],‘Ll(_\_h"on -G.h.\ka) )

A /

U_")-',n I'Cld.l? ot tylestan< iS5 Onyddadd LI~V ‘v'““"“ﬂﬁ topold Lou @ped:

b A Plecein Bt Y T Vadk0 Guniiga €8 ~(Ihak)
/ - 9 "

# ' [%

Scanned by CamScanner



